5 WHYS TECHNIQUE

PRODUCT [ PROCESS DEPARTMENT

Problem CORRECT'VE ACT'ON TO TAKE

PRIMARY CAUSE LBl e Corrective Party. Date Action Date To
Why is it happening? Why is that? Why is that? Why is that? Why is that? Action HEERO A £ SSLERS

PRIMARY CAUSE ROOT CAUSE Corrective Party. Date Action Date To
Why is it happening? Why is that? Why is that? Why is that? Why is that? action Responsible EREI Camplsie

PRIMARY CAUSE ROOT CAUSE Corrective Party. Date Action Date To
Why is it happening? Why is that? Why is that? Why is that? Why is that? Action Responsible Begin Complete
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